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2. (25%) A 50-kg mass block moves between vertical smooth guides {friction can be ignored) as shown in the
following figure. The block is pulled 50mm down from its equilibrium positioh and released. For each spring
arrangement {Case 1 and Case 2 in the following figure), determine

a. The period and natural frequency of the resulting vibration.

b. The displacement of the mass block as a function of time.

¢. The maximum velacity, and maximum acceleration of the mass block.
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3. (25%) The thin plate ABCD of mass 8 kg is held in the position shown by the wire BH and two links AE and DF.
Neglecting the mass of the links, determine immediately after wire BH has been cut (a) the acceleration of the plate, (b)

the foree in each link.

4. (25%) Each of the two slender rods shown is 0.75 m long and has a mass of 6 kg. If the system is released from rest
with f=60°, determine (a) the angular velocity of rod AB when f=20°, (b} the velocity of point D at the same instant.






